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Q 1. THI & HiEH # @ fohe it @1 daq @d 82
(A) 3USt I (B) SUST Ut

(C) i gy (D) =¥ uTt

Q 2. TG & THY HT IIdTER0T HdT gidT 82
(A)3UsT  (B) gl T (C)dga ™ (D) sR&Td
Q 3. yy-yeft forg g & & 96 od 2
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(A) 3r&T  (B) 3t (C) 38 (D) 3r<dTg
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(A)at  (B)dta (C)IR (D) ui™
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(A) Gehaa  (B) Sgadd  (C) 3reag
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Q 8. "5 g H fohd 31&R 87
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(A) G (B) aiét
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(A) art (8) I

(C) gar (D) faet
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(C) sy wrg (D) i
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(A) H20 (B) CO2

(C) Nacl (D) 02

Q 19. R R | Holl &l A did 1 82
(A) S (B) FraTgrE3e
(C) faerfa= (D) @S

Q 20. 3rrad gRoft & uget dd &1 ATH AT 8?2
(A) sifadts= (B) gT3gIoH
(C) giferam (D) forfdrm

Read the passage carefully and answer the
questions:

Tom was a little boy who loved animals. One day,
he saw a small puppy near his house. The puppy
looked scared and hungry. Tom took the puppy
home and gave it some food. He named the puppy
Max. Max became Tom’s best friend. They played
together every day. Tom took care of Max, and Max
always made Tom happu.

Q 21. Who found the puppy?

(A) Max

(B) Tom

(C) Tom’s friend

(D) A stranger

Q 22. Where did Tom see the puppy?
(A) At the park

(B) Near his house

(C) In the garden

(D) In the forest




Q 23. What did the puppuy look like?

(A) Happy and healthy (B) Scared and hungry
(C) Big and strong (D) Tired and angry

Q 24. What name did Tom give the puppy?

(A) Max (B)Jack (C)Buddy (D) Tiger

Q 25. What did Tom do for the puppy?

(A) He ignored it. (B) He gave it some food.
(C) He sold it to someone. (D) He left it outside.

Q 26. How did Max make Tom feel?

(A) Angry (B)Bored (C)Happy (D) Sad

Q 27. What type of word is "small" in the sentence:
"He saw a small puppy near his house"?

(A) Noun (B) Verb (C) Adjective (D) Pronoun
Q 28. Which sentence is correct?

(A) Tom and Max plays together.

(B) Tom and Max played together.

(C) Tom and Max is playing together.

(D) Tom and Max play together.

Q 29. What is the past tense of "take"?

(A) Taking (B) Took (C) Taken (D) Taked

Q 30. Choose the correct preposition: "Tom gave food
___the puppy."

(A)To (B)Of (C)On (D)At

Q 31. ¥Rd & g 5T | g Ww f[Ra 82
(A) ToRTd (B) IS (C) 77 wear (D) gRarom
Q 32. fI%y &1 Ga9 ST AT hI=-T7 872

(A) 3rshiaT (B) Tf¥ram (C) gdu (D) aféror smfanr
Q 33. TYh TF (UN) &I AT gl [ 872
(A) @1 (B) uf@ (C) =gaish (D) foHan

Q 34. YRd &I AL Gel hIH-91 8?2

(A) T (B) Iomd! (C) &He (D) gl

Q 35. ‘arsiHger a1 AT fhea @=amr?

(A) 3rhaR (B) egSTgl (C) Si¥irsi@ (D) 9TaER
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AU g1 872

(A) fen, @y, Sftgq @R (B) Y, i, dar &
(C) reT, IR, ferm (D) W=y, gruf<, guTs
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Q 41. &I HHT3AT &1 Tl 80 & 3R IehT FUT 3:5
2| I8t T= o gnft?

(A)30 (B)40 (C)50 (D)e60
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(A) 25 Hie= (B) 50 Htex

(C) 60 Hiex (D) 75 Hiex

Q 43. 15% 1 {97 &Y g1 g2

(A)1/5 (B)3/20 (C)1/10 (D)1/15

Q 44. 12 3R 18 &1 TYTH FATIZ (LCM) TIT BITIT?
(A)36 (B)48 (C)72 (D)24
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fepat ghft?

(A)7HR  (B)9Hlex (C)nHRR (D)12 Hi=
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(A)20% (B)25% (C)30% (D) 40%
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=T /187

(A)50 (B)eo0 (C)70 (D)s8o
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